Lecture 24 Shadowitz Chapter 11 sections 2.1 and 2.2

models of college teaching:

-lecture, hmwk, midterm, final (CSM)

-tutor (Oxford and Cambridge)
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that leaning occurs when students are actively involved?

than a grading mechanism?

-informational: What evidence iIs there that lectures are effective?

What is t| | biective of thi el?

How do you generate a model?

—Example: Blaster card to enter Meyera——— — — — — — — — — —

Questions:

-congruous: Faraday's law is the only way power could be transfered.

Is this done by the receiver generating an oscillating magnetic

- field which causes a changing flux in a circuit loop, thereby
generating an emf in the blaster card?




Maxwell's eqgns up to now:
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Questions:

-analogous: could a changing E generate a B?
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and scalar potentials?




Are these eqgns consistent?

. D\

o~ l___d
v °{ 7 <\J 8 =D How do you prove this?

\ J

Questions:




— = D) = 2P
_ < E
\/'_3._ < té_)/t—:-é&v't::a

Ma<$:'\«‘ ® 1 o ot }'t
g “r
cr
\/é
k)
_ SN -
=% e
— /
Questions: - == = S
T + 42.5
UXS }40-5 f'(;, O'Dt’




informational: How do we choose simplifying assumptions so the example
is not full of extraneous effects?
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